Efficiency vs dr

0.2

Cl

o

-

| D
LR RN LERN RRRE LR

©

o

=
IIIII

quareNew_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiS

.- i -E | | " HTR B 1| :
it 14
0.7 I

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.02
d0.018F
E r
2.016_
9.014F
P o
9.012F
2

g E
£ 0.01
@ E
0.008[
0.006F
0.004F
0.002

1073 1072 107
AR(TP, jet)

Efficiency vs pu

—0.05
o
9.045
30.04
(]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

Of——
1

Ratio

120 140
Pileup

o[ TTTT

N

o

8 =T
—

o

o

N

o

o



	Contents
	Page 1


